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= ER 2 & 553 B AKEKIFHEH
X4
AU e = e =
EHE 10 5,482,800
=BER 1 2,000,000 1 2,000,000
BRIREB 31 999,572 10 176,000
= 9 280,000 1 10,000
B 8 109,000 2 20,000
KR AT 6 60,000
FER 4 40,000 1 10,000
FHIB 4 40,000 1 10,000
RIGE 3 30,000
R 2 20,000
NG 2 20,000
tiEE 4 19,725
BEFE 1 10,000
SRI R 1 10,000 1 10,000
HAARR 1 10,000
BHE 1 10,000
REFE 1 10,000
I BB 18 1 10,000
ER IR 1 10,000
YHER 1 10,000
RERKT 1 10,000 1 10,000
fif] 1L IR 1 10,000
N=1= 1 10,000
fRf R 1 10,000
= 51 1 10,000
etk 1=t 1 10,000
5t 26EBERTIR 98 9,241,097 18 2,246,000
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